WORKSHEET_3 " SMARTenglish

Wybierz te opcje, ktéra najlepiej pasuje do kontekstu zdania.

1. If he hadn't stolen the car, he .......... in prison now.
a) wasn't b) hadn’t been c) wouldn’t be d) wouldn’t have been

2. | haven’t had dinner with the Browns for ......... ;

a) longtime b) the ages ¢) the summer d) years
3. Those two cats ......... on that branch for the last hour.
a) aresitting  b) were sitting c) have been sitting d) will be sitting
4. According to this timetable, the bus ......... at 6.05.
a) isgoing to arrive b) arrives c)is arriving d) will arrive
5. Ireally think that apologizing is ......... you can do.
a) not as much as b) a little c)asfaras d)the least
6. Jack has decided to ......... the time he spends watching TV.
a) runoutof  b)cutdownon c) look down on d) come up with

7. Nobody's got to stay late this evening, .........?

a) isit b)isn'tit c) haven’t they d) have they
8. ....... doesn’t seem to be anyone at home.

a) There b) It c) One d) Whoever
9. Do you feel ......... out for a drink?

a) going b) to going  c) like going d) on going
10. I'd rather you ......... jeans to the office.

a) not wear b) don’t wear c) didn’t wear d) wouldn’t wear
11. Jessica looks very pale. | think she .......... :

a) fainted b) is going to faint c) had fainted d) faints
12. Sorry, but I'd rather you ......... your bike there.

a) don’tleave b)wouldn’t have left c) won't leave d) didn’t leave

13. | can’t pick that last apple from the tree. It's out of ..........

a) reach b) hand c) place d) doors
14. Martha ......... the police officer she was lost.

a) said b) said that c) told d) told to
15. The two cars for sale were in poor condition, so | bought ......... of them.

a) either b) each c) neither d) none
16. | really think that apologizing is ......... you can do.

a) alittle b) the least c) not as much as d) more less than
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Let's go to Barcelona, ......... we?

a) shall b) won't c) don't d) do
........ the increased demand for parking spaces, the company has decided to enlarge the car park.
a) Since b) First of all c)Owingto d) As aresult
David ......... work hard.
a) wassaid he b)isthoughtto be c) has been known d) was made to
That’s the girl ......... brother sits next to me at school.
a) which b) whose c) whom d) who
This is the gun with .................... the murder was committed.

a) whose b) what ¢) which
You have to stay until you .................... your work.
a) will finish b) have finished c) will have finished
If you don't mind, I'd sooner you ................... your violin somewhere else.
a) practise b) practised c¢) had practised
I am very friendly, ....ccccovcerirenee ?
a) aml b) don’t | c)aren'tl
Tony always arrives exactly ................... time for his lesson.
a) on b)in c) at

The two cars for sale were in poor condition so | didnt buy .......ccceeeeinie

a) either of them b) both of them c) neither of them
There are..................... fish in this river than there were three years ago.
a) less b) fewer c) lesser
28. .oveeevene. YOU get used to the job, it won't seem so bad.
a) Since b) Once c) While
I've never owned .................... independent cat as this one!
a) more than b) such an c) so as
The suspects .................... by the police for the last two days.
a) have followed b) have been following c) have been followed
Jim .....cceueneeee. to stealing the money.
a) confessed b) refused c) denied
We .......c.c......... fOr hours. Let’s have a rest.
a) are walking b) had been walking c) have been walking
This time next week | .................... on the beach in Spain.

a) will be lying b) will have been lying c) am lying



34.1'd rather we .................... at home this Christmas for a change.
a) stay b) stayed c) had stayed

35. If TiM ...ocesvervveeennnnns. hard, he wouldn’t have finished the marathon last week.
a) hadn’t trained b) hasn’t trained c) didn’t train

36. 2.When my sister was at university, she ....................... for her studies because she got a scholarship.
a) needn’t have paid  b) didn’t have to pay c) can’t have paid

37. I'm late for the minister’s conference, .......cceeeverriernns |?
a) aren’t b) don’t c) won't

38. | like this bike. It's .........ccucu........ better than that one over there.
a) Little b) more c) far

39. You still look ill and exhausted. .........cccoceuc.eee. not go out today.
a) Youmustn't b) You shouldn't c) You’d better

40. The athlete managed to break the world record ...........ccccvue... falling down during the race.
a) but b) despite c) although



